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Model version 1.

! HeOh1.lng;

! Resources and Trade: The Heckscher-Ohlin Model;

! Peter Lohmander 02-08-27;

Model:

!Cobb-Douglas production functions will be used below;

C = LC^.7*TC^.3;

F = LF^.3*TF^.7;

! Total factor demands = factor supplies;

L = 10;

T = 10;

LC + LF = L;

TC + TF = T;

! w - determination via the two sectors;

w = PC*(.7*LC^(-.3)*TC^(.3));

w = PF*(.3*LF^(-.7)*TF^(.7));

! r - determination via the two sectors;

r = PC*(.3*LC^(.7)*TC^(-.7));

r = PF*(.7*LF^(.3)*TF^(-.3));

!Price level definition;

PC = 100;

!Relative demand function;

PC/PF = 1.5 - .5*C/F;

!Relative value calculations;

RELP = PC/PF;

RELW = w/r;

RELT = T/L;

end

                                           Variable           Value

                                                  C        5.428834

                                                 LC        7.000029

                                                 TC        3.000004

                                                  F        5.428800

                                                 LF        2.999971

                                                 TF        6.999996

                                                  L        10.00000

                                                  T        10.00000

                                                  W        54.28817

                                                 PC        100.0000

                                                 PF        99.99990

                                                  R        54.28801

                                               RELP        1.000001

                                               RELW        1.000003

                                               RELT        1.000000

Model version 2.

(A Case with more land available) 

! HeOh1.lng;

! Resources and Trade: The Heckscher-Ohlin Model;

! Peter Lohmander 02-08-27;

Model:

!Cobb-Douglas production functions will be used below;

C = LC^.7*TC^.3;

F = LF^.3*TF^.7;

! Total factor demands = factor supplies;

L = 10;

T = 20;

LC + LF = L;

TC + TF = T;

! w - determination via the two sectors;

w = PC*(.7*LC^(-.3)*TC^(.3));

w = PF*(.3*LF^(-.7)*TF^(.7));

! r - determination via the two sectors;

r = PC*(.3*LC^(.7)*TC^(-.7));

r = PF*(.7*LF^(.3)*TF^(-.3));

!Price level definition;

PC = 100;

!Relative demand function;

PC/PF = 1.5 - .5*C/F;

!Relative value calculations;

RELP = PC/PF;

RELW = w/r;

RELT = T/L;

end

                                           Variable           Value

                                                  C        5.492571

                                                 LC        6.047598

                                                 TC        4.387558

                                                  F        10.33923

                                                 LF        3.952402

                                                 TF        15.61244

                                                  L        10.00000

                                                  T        20.00000

                                                  W        63.57591

                                                 PC        100.0000

                                                 PF        81.01185

                                                  R        37.55474

                                               RELP        1.234388

                                               RELW        1.692884

                                               RELT        2.000000

Model version 3.

(A case with more labour available)

! HeOh1.lng;

! Resources and Trade: The Heckscher-Ohlin Model;

! Peter Lohmander 02-08-27;

Model:

!Cobb-Douglas production functions will be used below;

C = LC^.7*TC^.3;

F = LF^.3*TF^.7;

! Total factor demands = factor supplies;

L = 20;

T = 10;

LC + LF = L;

TC + TF = T;

! w - determination via the two sectors;

w = PC*(.7*LC^(-.3)*TC^(.3));

w = PF*(.3*LF^(-.7)*TF^(.7));

! r - determination via the two sectors;

r = PC*(.3*LC^(.7)*TC^(-.7));

r = PF*(.7*LF^(.3)*TF^(-.3));

!Price level definition;

PC = 100;

!Relative demand function;

PC/PF = 1.5 - .5*C/F;

!Relative value calculations;

RELP = PC/PF;

RELW = w/r;

RELT = T/L;

end

                                           Variable           Value

                                                  C        9.249763

                                                 LC        14.47923

                                                 TC        3.251093

                                                  F        6.354230

                                                 LF        5.520771

                                                 TF        6.748907

                                                  L        20.00000

                                                  T        10.00000

                                                  W        44.71810

                                                 PC        100.0000

                                                 PF        129.5076

                                                  R        85.35370

                                               RELP       0.7721559

                                               RELW       0.5239152

                                               RELT       0.5000000

